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IT Year Commerce Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-1
(Income Tax)

Time : Three Hours
- Maximum Marks : 100

PART - A (@Uus-371) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
| v S ¥ | e e o S e v S T
Tt gl % i T €

PART - B (Eus-v) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

TOIF 3P © Ueh-Ueh W9 T4 80, F Uie T hifem |

TeIE W I 250 Vi W ifew 7 9
Tt gl & i wEE ¥ |
PART - C (@vg-w) [Marks : 30
Answer any fwo questions (300 words each).
All questions carry equal marks.
IS S R SIS | ook W 1 ST 300 Yo} & s 7 8l
gt 7l % o7 TEE
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PART - A
(@ve-31)
JUNIT -1
(FTE-1)
What do you mean by assessment year ?

e Frufcor ad | = e 7

2. What is casual income ?

HHTET 3T 1 €7
UNIT - II
(FehTS-11)

3. Ramesh joined a company on Ist June, 2014 on a monthly

salary of T 27,000. As per terms of employment salary
becomes due on first day of the next month and is paid on
10™ day of the every next month. Determine the grass salary
for the assessment year 2015-16.
WY 3 wF FEA H 15, 2014 H 27,000 T AR FTH W
Sttt T | Qe I STHER IR 39 S HIE i Teel
arirE F 39 d & fr Y 19 e H R S -
oo & 2015-16 % fierg weher S =t o i
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4.

6.

Shri Avinash Garg is an officer of Rajasthan Administrative
service in the pay scale of ¥ 5,000-200-7,000 since 1 June,
2012. Calculate his total basic salary for the previous year
2014-15. !
a4t sferrr T geea yorEtE da ¥ v efuwd £ 3 1
[, 2012 | 5,000-200-7,000 T ¥ T & HrEE T | 77 T
2014-15 o ToTQ 37 Pl el S =1 TT01 T |

UNIT - 11

(3HTE-111 )
What is normal rate of depreciation on patents ?
U W W B T R?
Wirtten down value of two machines were ¥ 5,00,000 on 1
April, 2014, One machine was sold on 315 March, 2015 for
< 3,00,000. What would be depreciation deduction for the
previous year 2014-15 ?
= AT T FAT W e 1 3, 2014 FY 500,000 T 41|
31 19 2015 1 UF T 3,00,000 T F 39 &1 T 2014~
15 & 1 &9 w1 Rt welet uew €2
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UNIT - IV
(3HE-1V)

7. What do you mean by set-off of losses ?
eIl =t gfe & = e €7

8. How is speculation loss set off ?

T2 FI wt Y sfetes o s g2
UNIT -V
(3E-V)

9. What do you mean by an active partner in case of a firm ? If
remuneration paid to inactive partn-er can be allowed as
expenses ?
ww FH W a4 Gled SRR ¥ F Al ]2 @ Riee
e 1 fed R il F e o e i
LET IR

10. What is maximum rate of interest on capital which can be
allowed to partners u/s 40(b) of the Income Tax Act, 1961 7
SRR SfufEE 1961 H MU 40(b) ¥ STER FH g EERI

ot T R TR A1 TSt R SATEAR < 1§ e €7
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PART - B

(‘@13—3)
UNIT - 1
(3=E-1)

1. Whether the following are income ? Give your answr in Yes

or No.

(I) - Ram received ¥ 10,000 in cash from his grandfathers
as gift.

(2) Received T 5,000 from the winning of Rajasthan
State Lottery.

(3) Sudha earned ¥ 5,000 from the business of
smuggling.

(4) Ram purchased a machine for ¥ 50,000 in 2003, It's
market value on 315 March, 2015 was Z 2,00,000.

(5)  Ram borrowed T 10,000 from Neeraj on which the
interest due for previous year was ¥ 1,500. In the
previous year. Ram paid ¥ 2,500 to Neeraj.

(6) The employer deposited in the provident fund of
Radha in the previous year ¥ 4,000.

2801/9940 5 PTO.




s Frefefaa o &2 & @ § @ el
(1) TH @ & @ ¥ IRE F 10,000 I L WA FL
(2) TEHH T Al ¥ FH % 5,000 ¥ W ¥
(3) | TEHT F FE F 5,000 T &t I g
(4) T\ ¥ WA 50,000 ¥ F 2003 H TS i1 31 W,
2015 I SHH TSR Hed 2,00,000 X =1
(5) m%ﬁhﬁﬁ 10,000 T suR fod forg W o #
S % 1,500 T 29 €I WM A @ ¥ F AR FH
2,500% FFMA |
(6) nm%qﬁmﬁfa@ﬁﬁmmﬁm%nﬁa&ﬁ
4,000% STHI ST |
OR ( 3teET)
What do you mean by income deemed to be received in India?
T e &g T S et o W A
UNIT - I
(zwTE-11)
2. Determine the annual value of the houses from the following
information if Rent Control Act is applicable :
foreferfiEn g 3 SET T FRE o e ged S FH
7fe foran Feiam & @ EA R
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I House II House

4 3
Municipal value 12,000 24,000
Fair Rent 10,000 18,000
Rent Received 8,000 12,000
Standard Rent 11,00 32,000
Municipal Tax paid by house owner 10% 6%

OR ( 31erar)

Neha Mangal has let out her house since 1% Jan, 2005 at a
rent of X 5000 p.m., During previous vear 2013-14 she has
claimed unrealised rent for 3 months while determining annual
value of the house but during previous year 2014-15 rent of 2
months out of 3 months was realised. If fair rent value of
house is ¥ 54,000 then find taxable income related to bad debts
recovered from house property.

T T ¥ A CF WEH 1 S, 2005 B 5,000 ¥ Hfewrg
Wwﬁmgw%nﬂaﬁzms—mﬁaﬁmwﬁm
mmﬁﬁswﬁwm@mmmmﬁ
menmﬁﬂaaﬂfzomqsﬁs?smﬁﬁzmamm
Y ' TR AR sfaw fmrn gea 54,000 T whEd B )
FEH WA W 3t ¥fiE F gu Rl 5 agelt ¥ gy A
A 3 T
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UNIT - IIL
(z=rE-111)

3. What is capital asset ? Explain the significance of its definition

in the income tax act from the point of view of taxation.
%ﬁmﬁw%?mafuﬁwﬁmﬁgﬁﬂﬂaﬁ
wfeare =t wefeRa & it |
OR ( 319ET)
Write notes on the following :
(i)  Short-term capital gain.
(i) Capital gains in the case of empulsory requisition of a
capital asset.
(iii)y Transfer of capital asset.
(iv) Cost of acquisition of capital asset.
(v) Indered cost of acquisition of capital asset.
(vi) Long-term capital gain.
ﬁ"’fﬁﬂgﬁ =" ﬁmﬁmﬁ ﬁ“lﬁi‘l 3
() eI e @
(ii) %ﬁwﬁr%aﬁaﬁﬁmmﬁgﬁwq
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(i) ST ety =1 Ty
(iv) Tt weafa =t Wi e
v) IS e wifie % geier o
(vi) <reenre gt ey

UNIT - 1V

(FFE-1V)

4. Discuss quantum of deduction allowable u/s 80GG for house

rent ?
Y1 80GG ¥ Hehr Fofard ¥ wearer f weftenrd 2ot 5 = wfr
&7

OR ( 319mr )
Gross total income of an assessee is ¥ 1,80,000. He has hired
a house on a rent at Jaipur for which he pays a rent ¥ 1,500
p-m. What deducti(;n will be allowed to him from his gross
total income in respect of rent paid by him ?
T TN T HFE He S 1,80,000 T § | 34 AT WH *
Fere, srorge & o e et W @ v % v forn aw 15002
mmw%lﬁmwmﬁ@r RUGIERE DR O
T % ey | et ot W @i
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UNIT - V

(3T$-V)

5. What are the differences in the assessment of individual and
H.U.F. ? _
= ﬁﬂfgﬁ&ﬁmﬁﬂmﬁam—ﬁwﬂfwmi
7.

OR ( 34T )

Discuss the incomes which are not taxed as income of Hindu

Undivided Family.
i@aﬁmaﬂwﬁmmmﬁgﬁaﬁqﬁavﬁwaﬁm
¥ w9 H = AE T S ¢
PART - C
(Eus-¥)
~ UNIT-1
(F&TE-1)

1. Assessee have been divided into three categories on the basis
of residence. Expalin how these categories are defined and
how they affect the tax liability of an assessee i
forarg 3 SHR T FHEEI qH afordi # favs fRd T R0 T
Sl =5 e A g, fodrer A R f e ¥ e
3 o i ) it I €2
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UNIT - I1
(3TE-11)

2. Mr. X who is employed in a company gets ¥ 6,000 p.m. as
salary. He has been provided with a unfurnished house by his
employer for which the employer pays a rent of ¥ 2,000 p.m.,
but recovers only ¥ 1,250 p.m. from X. During the previous
year he received the following incomes :

()  Dearness allowance @ 1,200 p.m.

(i) Three months advance salary (including dearness
allowance) which he received on the last day of
previous year.

(i) Bonus @ ¥ 8,000 per annum.

(iv) Entertainment allowance @ X 7,500 per annum since
1% April, 1984,.

(v)  Pension from former employer @ ¥ 600 p.m.

(vi) A sweeper has been provided to him by his employer
for the proper upkeep of the house the salary being ¥

125 p.m. is paid by the employer.

2801/9940 11 PToO.




(vii) He is also provided with facility of a motor car with
driver of 1.6 litre (CC) by his employer which is used .
by him for both official and private use. All the expense
of car are borne by the employer.

(viil) Children education allowance for two children @ X 200
p.m. per child.

(ix) He has to work in unnatural climate of mines in
Dhanbad. Hence the employer has given him
underground allowance @ % 1,000 p.m.

(x) He was given a wrist as a gift by his employer on the
occasion of republic day celebration whose value is ¥
4,500.

(xi) The company has advanced an interest free loan of 4
50,000 to Mr. X for pufchase of a motor cycle on 1-
12-2014. Mr. X has been regularly repaying the loan in

instalments of ¥ 2000 p.m. at the end of each month.

Compute taxable income from salary of Mr. X for the
assessment year 2015-16 assuming Mr. X has paid a sum of
Z 1200 as tax on employment during the previous year.

2801/9940 12




ﬁm,ﬁmﬁﬁw%mw&ooo?m%n

mmﬁmawmmm%mmw

%ﬁm&aﬁmﬁwzpoo?m%ﬂmm%ﬂﬁm

ﬁ%aauso%uﬁwraa&am%maadﬁﬁﬁw%ﬁaa

319 W B8 :

() #EWE 9w 1,200 T yfiwre |

(i) aﬁmaﬁraaﬁrqéaﬁ(q%néﬂﬁaﬁa)a’rﬁ%ﬂaw
& afam e v g

(iii) =9 8,000 T Tffa)

(iv) 1 319, 1984 | e sy 7,500 ¥ wfeard |

v) e i @ 49 600 2 s

(vi) Wﬁﬂ%ﬁ%@ﬁmﬁmwwm
"g‘an%ﬁwéaam?mﬁﬂmmmw
Ll

(vii) 3% a9 Frdremr @ 16 (CC) witex =1 %R arerr. ufeg
aﬁﬁa‘ri‘%%ﬁwmﬁmémm%mﬁ%
ma-mwﬁvﬁwa?%q*ﬁm%rm%mm

et gm0 o= R s 8
(viii) 5=t & fer amet fararor sy 200 T ofqae Fr e d)
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(ix) ﬁmﬁﬁm@f‘aﬁmﬁwﬁmm@m
%laa:ﬁﬁmam,ooo?uﬁrmaﬂatﬁmw
femn ST B 1

(%) mﬁzﬂmﬂmmﬁﬁaﬂm%mw
4,500 T 4 T F1E-5E SR H & A

(xi) Mﬁﬁw@ﬁamﬁ@ﬂaﬁ%msopoo
?aﬁlmﬁmm%vu—zouﬁﬁm%laﬂm
mmy@mmo%‘aﬁmmﬁmmﬁ
s fifer ) Frafi &9 § W T

zo15—1e%m—ﬁuﬁmaﬁﬁmﬁmaﬁ€maﬁdﬁaﬁ

m—mmmwﬁﬂ@aﬁﬁﬁﬂﬁﬁsﬁmﬁw%ﬁ
am1goo?aﬁrﬁ1mﬁww=¥ﬂmwwﬁm%|
UNIT - I
(gerE-100)

3. The particulars of income of the proprictor of an industry Shri
Ram Dhan for the year ended 31% March, 2015 are as under:
31@,2015@%5\%3@3&%1@@:@“%@@
St e ) T e o R A E
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Profit & Loss Account for the year ended 3]st March, 2015

Salary to staff
Office expenses
Travelling expenses
Entertainment expenses
Expenditure on scientific research
Preliminary expenses
Patent right purchased
Advertisement expenses
Depreciation

Provision for bad debts
Sundry expenses

Net profit

Gross profit

Bad debts recovered

2801/9940 15

4
2,50,000
43,000
40,000
50,000
72,000
45,000
1,45,000
2,00,000
1,60,000
60,000
1,60,000
8,20,000
20,00,000

40,000

20,40,000
— Y
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Compute taxable income from business for the assessment

year 2015-16 keeping in mind the following additional

information :

Q)

)

3)

“)

)

(6)

@)

Salary includes X 8,000 paid to a totally blind
employer.

Travelling expenses includes daily allowance of 3
20,000 paid to an employer who was sent to
Mumbai. He spent 8 days in Mumbai.
Advertisement expenses includes ¥ 75,000 being cost
of 25 articles given as present for sales promotion.
The whole amount of the premliminary expenses was
spent on expansion activities of the industry ‘dur'mg the
current financial year.

The actual cost of fixed assets is T 15,00.000.
Sundry expenses includes a sum of T 28,000 which
was paid through crossed cheque.

Bad debts recovered include a sum of T 15,000
which was not allowed as bad debts by the assessing

officer two years book.

2801/9940 16




(8) Depreciation includes a sum of ¥ 40,000 for cost on
sale of machines and balance is depreciation for other
types of assets. The written down value of the
machine in the block as on 1.4.2014 was T 10,80,000.
Out of these machines, one machine of which
opening WDV was T 3,20,000 was sold for 4
2,80,000 on 1.7.2014 at a loss of ¥ 40,000.

Frefafa fifts geel = wm § wey gu w-fko a9

2015-16 & T =R * -39 a7 = T FRE -

(1) Wﬁ@@hzmmﬂﬁﬁmwéﬁemo?
vt

(2) == T § O FHER w g S 20,000 T @
%waﬁﬁa%nwﬁaﬁﬁg@mﬁwsﬁ?
=ita 6|

() fagmm =l F fowa gfs ¥g e ¥ w9 A @ 0 25
THEEE I @ 75,000 T Wi

4 uﬂﬁmmﬂﬂ@ﬂﬁwa&m%ﬁmﬂ%@
T T FEFET W T F O

(5) wrE weafedl e 15,00,000 T 3

2801/9940 17 PTO.




(6) fafaw =54 § 28,000 T # ww T ufy wlfea 2
forent e Ywifha = g fwan e
(7) = % Wit # 15,000 ¥ @1 AW HW WG gIA &
oy arfeerrt gro & o gEa w1 & w9 A Wigd Tl
o T Ay
(8) = =t ufit # 40000 T T A=A W/ g B F T
F ¥ qu 9w Ui = gefedl W PE F ey | 8
Y % WHE H 14.2014 H sfefEd ged 10,80,000
Z ol T T H A w wee fre smfafed goa
320,000 ¥ o1, 40,000 ¥ H1 & W 1.7.2014 Hl
2,80,000 ® 99 < T |
UNIT - IV
(FTE-1V)
4. From the following particulars, calculate the taxable income
and amount of tax payable by Mr. Sushil for the assessment
year 2015-16 assuming that tax deducted by the employer

from salary is ¥ 21,600.
2801/9940 18




?
Salary per month 50,000
Dearness allowance per month 20,000

House property is let-out on a monthly rent of ¥ 20,000, The
annual value of the housé property is ¥ 3,00,000. Municipal
tax paid is ¥ 30,000 for whole year. Interst payable on capital
borrowed from LIC for the construction of the house for
current year is 28,000 ¥ Re-payment of house building loans
taken from friends (interest free) is T 5,000 and from life

insurance corporation is Z 30,000.

3
>Interest on Savings Bank A/c 31,000
Income on Master shares of U ] 3,000
Interest on P.PF. A/c 2,000
Income from units of Unit Trust of India 4,000
Life Insurance Premium 6,000
Contribution to Public va@dent Fund 6,000
Deposit in account under national savings
scheme, 1992 10,000
2801/9940 19 PTo.




Interest accured on N.S.C.'s VIII issue 4,000
STCG on sale of shares on which security

transaction tax is imposed 40,000
Share of profit from association of persons where all members
are individual and tax paid by AOP by normal rates of income
tax. 20,000

et e @ #Tgsﬁﬂﬁmﬁﬂkmmfzms—w%m
HL-AT m@hmﬁmﬁmgmﬁﬁﬁw

3 3 & 21,600 T T A B E -

z
ERERIGLEIS 50,000
TEME Wl WA 20,000

TR FEf 2o,ooo?nﬁ$mamsa@n§%lmﬂam‘r‘ﬂ
=1 =it g 3,oo,oooi%|f§:aﬁaﬂmﬁfmm§mm
30,000?tw%ﬁﬂm%mmwﬁaﬁwzapmi
mh%}wm%ﬁﬁ@ﬁaﬁf@ﬂﬁmm%
m%s,ooo?wmamsﬁaﬁﬁmﬁm@f@ﬁm

¥ 30,000 T =rod fRA
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G ¥ @™ W ==

U.T.L % Master Shares T 3T

HEF FoSUe g T 9 S

g g 2 % 9fe @ e

Sfter AT W e
Hreh WaSve WU H e

TETF 90 AT 1992 F @i H S|

T s=a-93 VIII issue T 21f5d =411

39T % forspa | sresedy St @, fra @ wfavfa
FEER F AW &

AOP ¥ & ¥ fewm fowd usft =1fE & 9 AOP ™

HE W F TR
- UNIT - V

(FHE-V)

31,000
3,000
2,000
4,000
6,000
6,000

10,000

4,000

40,000

20,000

5. A, B and C are partners in a firm sharing profit in the ratio

of 3 : 2 : 1. Firm's P&L a/c of the year ending 313 March,

2015 revalued a net profit of 1,00,00,000 ¥ (including ¥ 1,50,000

2801/9940 21
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by way of sale and purchase of securities held as stock in

trade on which ¥ 5,000 is paid as security transaction tax and

not deducted as expenses) after deduction of the following :

(i) Salary to AT 1,80,000;

(ii)’ Rent of building owned by A ¥ 1,20,000. Firms office
is situated in this building;

(i) Commission paid to A, B and C ¥ 1,00,000, ¥ 3,00,000
and ¥ 5,00,000 respectively.

(iv) Interst on capital 20% P.A to A, B and C ¥ 1,00,000, ¥
2,00,000 and ¥ 3,00,000 respectively;

(v) Bonus paid to C ¥ 80,000;

(vi) Repairs and reneuals of building of A ¥ 40,000; firm is
not entitled to repair the building;

(vii) Interst on loan given by C's wife out of her stridhan @
20% p.a. T 2,00,000.

(viii) Audit fee paid to A's son who is chartered accountant

< 40,000;

2801/9940 22




(ix) Taxi hire paid to B ¥ 10,000. B runs taxi business
independently; firm took his taxi on hire for firm
business;

(x) Firm donated I 20,000 to approved institutions.

Firm's net profit includes ¥ 4,500 (net) interest received on

govrnment securities. Compute firm's total income and it's tax

liability for the assessment year 2015-16.

¥, 9 UE W UH FH Y URER W3 12 ;1 F I F -

&1 =1 faursm 3d €131 7, 2015 ) 9ATE B el 9y &5

wv-g1t @ e ol 7 92 % = 1,00,000 T (3EE

i i & w9 F vt wfayfa & % fasa @ 1,50,000

% wfmfera & @ w0 5,000 T wfayfe seer =2 %1 yAm

fefan T, S =g & w9 H w2 €O ®) % ¥e oy yeiia

FHATE :

(i) ¥ = AT 1,80,000 T;

(i) ¥ % wEfiE A wad o T 1,20,000 T; 39 waA A
Y = HEfeE frem ¥

(i) =, 9 €S | H e ™, s s 1,00,000,
2,00,000 ¥ Td 5,00,000 T;
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(iv) 31,9 ud 9§ F ISt W 20% @i & ¥ = 1,00,000
%, 2,00,000 T TE 3,00,000 T;

(V) W T R T e 80,000 ¥;

(vi) % a9 F WOHa UF TN W 40,000 T
o w1 Foerl e 5t T o

(vii) | I T F B/ W 20 % E QX F =G 2,00,000 T
T I T 7 39 Sy ¥ § e o wwn suR fa,

(viii) 31 % TIF F IT FHWT FYoF 40,000 T 3 F ASH
wEE THRVE §;

(i) & 37 S 2d = T 10,000 ¥ 9 9o w9 A
2t w1 RN T & A o w5l F fow @ =
Tt I we el ot

(x) 9 BRI eTEifeT Wegreli ®1 20,000 T T AT |

wH % Y5 A H aer wfaufeEl e g = 4500 T S

wftrfer € | wH ® w-freior 9 2015-16 F1 F@ o FH-

TaE &I 7o ifew |
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